BSc (Hons) Medical Imaging (Diagnostic Radiography)                                           PAM2011: Example Questions

PAM2011: Electricity 2 -  Problem Sheet Solutions
1. What is the total electrical resistance when resistive elements of 1, 2, 3 & 4 kΩ are connected in (a) series and (b) parallel?

(a) Rtotal = 1 + 2  + 3 + 4 = 10 kΩ
(b) 1/Rtotal = 1/1 + 1/2  + 1/3 + 1/4 = 2 1/12

Rtotal = 0.48 kΩ
2. If the resistive circuits in question 1 each draw 10 A, what will the voltage be across the 4 kΩ in (a) the series circuit and (b) the parallel circuit?

Using V = IR

(a) V = 10 x 4k = 40,000A

(b) V = 10 x 0.48k = 4,800 A

3. How much power is consumed by the circuit in question 2?


Using P = I2R
(a) P = 10 X 10 X 10k = 1 MW
(b) P = 10 X 10 X 0.48 kW

4. Which direction do electrons flow with respect to current?

See notes

5. What is the effect on resistance of a length of wire if the thickness is increased?
See notes
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